* M-T 9.85¢m M-T 10.4 cm
M-M 9.84cm M-M 10.6 cm
X0 300,800Hz X0 300,800Hz
M-T 9.3cm lambda 800Hz= 42.9 ¢cm lambda 800Hz= 42.9 cm
M-M 9.9cm 1/4 = 10.7cm 1/4 =10.7cm
X0 300,800Hz 0.23 of lambda M-T 0.24 of lambda M-T
lambda 800Hz= 42.9 cm 0.23 M-M 0.25 M-M
1/4 =10.7cm *
0.22 of lambda M-T
0.23 M-M *
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SB65
M-T 6.5 cm
M-M 6.4 cm
X0 300,1.6k
lambda 1.6kHz=21.4cm
1/4 = 5.36 cm Raal 140-50
0.30 of lambda M-T
0.3 M-M
SB65
M-T 7.0 cm
M-M M-T7.0 cm ;
X0 300,1500Hz M-M -
lambda 1500Hz= 22.9 cm X0 300,1500Hz ]
_ lambda 1500Hz= 22.9 cm
1/4 =5.72 cm SB6S _|_
0.31 of lambda M-T 1/4=15.72 cm
0.31 of lambda M-T SB65
SRT-7
| M-T 7.2cm Ribbon
*4 M-M 6.45¢cm
u - X0 300,1.8k
lambda 300Hz=114.3cm
1/4 = 28.6cm
lambda 1.8kHz=19.06¢cm SB65
1/4 = 4.76cm
0.38 of lambda M-T SB6S
0.34 M-M
; M-T 6.3 cm
| M-M
X0 300,1800Hz
SRT-7 lambda 1800Hz= o on e
M-T 6.9 cm Ribbon 19.1 cm o X0 300 1 3%
M-M 14x30 1/4 = 4.8 cm u lambda 300Hz=114.3¢m
X0 300,1800Hz - 1/4 = 28.6cm
0.33 of lambda M-T M-T 10.6cm lambda 1.3kHz=26.4cm
lambda 1800Hz= X0 300,1.3k 1/4 = 6.6cm
19.1 ¢cm 'ambd:‘/l?";"'éﬂs-“cm this 0.35 of lambda M-T
=0.0Cm 0.25 M-M
1/4=4.8 cm this distance 0.40 of lambda |
0.36 of lambda M-T SB65 :
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M-T 9.3 cm M-T 7.95¢cm

M-T 8.2 cm
M-M 8.4 cm M-M cm M-M cm
X0 300,1.3k X0 300,1.3k X0 300,1.3k
lambda 1.3kHz=26.4cm lambda 1.3kHz=26.4cm lambda 1.3kHz=26.4cm
1/4 = 6.6cm 1/4 = 6.6cm 1/4 = 6.6cm
0.31 of lambda M-T 0.35 of lambda M-T 0.30 of lambda M-T
0.32 M-M
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